HW13 [19.5 pts.] (Remote) Solutions  Name: ___Lecture Time: ___

13.5 (a) __

       (b) __

       (c ) __

  (d) __

  (e) __

  (f) __

  (g) __

  (h) __

  (i) __

  (j) __

  (k) __

  (l) __

     (m) __

13.14 (a) __

         (b) __

         (c ) __

13.23 (a) __

         (b) __

         (c ) __

13.33 (a) __

         (b) __

13.35 (a) __ (b) __ (c ) __ (d) __

         (e) __

13.38 (a) __ (b) __

13.43 (a) __ (b) __

        (c ) __

13.45 (a) __

         (b) __

13.49 (c ) __ (d) __

         (e) __ (f) __         

        (b) [Observed] Least Attractive: B__ NotB__ Total__

                         Most Attractive:  B__ NotB__ Total__

                                         Total:  B__ NotB__ Total__

      [Expected] Least Attractive: B__ NotB__ Total__

                         Most Attractive: B__ NotB__ Total__     

                                         Total: B__ NotB__ Total__

        (c) chi-square=__

        (d)__

        (e) __

             __

        (f) __

12.33 (a) __

         (b) [Observed] C: E/G__ A/U__ Total__

                                  I: E/G__ A/U __ Total__

                           Total: E/G__ A/U __ Total__

               [Expected] C: E/G __ A/U __

                                  I: E/G __ A/U __

        (c ) __

        (d) __

        (e) __

        (f) __

        (g) __

12.34 (a) __

         (b) __

         (c ) __

         (d) __

         (e) __

12.36 (a) __ (b) __ (c) __ (d) __

12.43 (a) [Observed] Sim: Two Kinds__ Same Kind__ Total __

                                  Seq: Two Kinds__ Same Kind__ Total __

                               Total: Two Kinds __ Same Kind __ Total __

               [Expected] Sim: Two Kinds__ Same Kind__ 

                                 Seq: Two Kinds __ Same Kind__

         (b) __

         (c ) __

         (d) __

